Umbrella Bracket

Leg Channel wleded to
/Lower Ring.

| - —3/8"x 2 3/4" Hex Bolt,
and Locknut here.
Step 3 & 4.

Detail of Leg and
Lower Ring w/Umbrella
bracket.

3/8"x 2 3/4" Hex Bolt,
Flat Washer and Locknut here.
Step 2.

3/8"x 1 1/2" Hex
Bolt, Flat Washers
and Locknut here.
Step 5.

1. Lay down a protective surface, such as the box it was delivered in, and turn table top
upside down on it. All connections are finger tight only, until the table is fully assembled.

; 2. Attach the table legs, one at a time, to the sides of the support bars in the table top. Use
Detail of Seat a 3/8" x 2 3/4" hex bolf with a flat washer on each side and a locknut. Be sure that each leg
Mounting Bracket is on the same side of each support bar as you go around the table.

3. Bring a leg up to the lower ring. Line up the hole in the leg with one of the channels/hole
in the lower ring and attach it using a 2 3/4" hex bolt and lock nut.

4. Now bring the rest of the legs up, one at a time and attach to the lower ring the same
way as step 3. Place the umbrella bracket on the inside of the lower ring. Attach it using the
same bolt that goes through the leg. Pick the leg directly opposite of the leg you just used
for the umbrell bracket and place the other end of the umbrella bracket on the same way.

Use 3/8" x 2 3/4" hex bolt and locknut for all of the legs. FURNITURE LEISURE INC

5. Attach the seats to the sides of the seat mounting angles on the legs with two 1 1/2" hex OUR LIST OF WEB STORES

bolts with flat washers on each side and locknuts per leg. (Four bolts per seat) e e o
www.ParkTables.com www.UBrace.com

6. Tighten all the bolts. Place some packing cardboard under the seat and 2 legs where
they will touch the ground. Then turn the entire assembly right side up (2 people are

needed for this). RTRCFVPS
Assembly Instructions

1.800.213.2401

Rev 4-27-09



